Noun Ending Rules Definite Articles Noun ]ﬂgs

1. Stems ending in o or 1 are in the 1st declension “A class”, stems ending in o are in the 2nd declension M _|F N M|F|N M/F | N
“O class”, and consonantal stems are in the 3rd declension. Class |O/2 |A/1]0/2]|O |A [O]| [Cons.+1, v
2. Neuter nouns have the same fonn. in the non'.lina.tive and the accusative. Nom.Sg.| & In” 6 c v ¢/

3. (liklmost 211‘1 neulter ;vords end in o in the nominative g quare of Stops Plus — —— -

and accusative plural. - - - en. Sg. | Tov [Tng |tov | [ v v [ o

4. In the dative singular, the v subscripts if possible. Unvoiced |Voiced |Aspirate [+ ¢ |+ 6 N - N : : :
(Because an 1 can only subscript under a vowel--in Labial T B ) v (o Dat. Sg. | 1@ | T | 19 L t !
which case the vowel lengthens--it subscripts only in the [Velar K Y X E | x ildce. Sg. | tov |ty | 10 v iv|v o/v

1st & 2nd declensions). ‘ Dental T S ) s | o - - -

5. Vowels can often change their length ("ablaut"). Nom. Pl.| ot | o [ to L B £G o
6. In the genitive and dative, the masculine and neuter will always be identical. Gen. PL |tov ltov ltov | lovloylov oV OV
7. The Square of Stops

8. A 1 cannot stand at the end of a word and will drop off. Dat. Pl. |to1¢ [taic|toig| |1g [ g [ou(v)]| ou(v)
9. 1st Declension nouns that end in €, 1, or p will have an o instead of an 1 in the singulars. For other - - -

forms see Mounce 345-6. Acc. PL. [tovg|toc [t | [uc| g | oG o

contraction, the cell is split.

Vowel and Diphthong Contraction Chart Combined with Lengthenings
Lengthenings have filled cells. Where the lengthened form differs from the

The Sigmanator
As Part of the Stem
=»Before 1 or v, ¢ disappears and the vowel before it lengthens. eo+ut = eut.

albn bl e - en? ninlt ® a1 ol © ol =»Two ¢ brought together .by inflection become one 6. TeEAec+o0il = TEAECOL.
- — |As Part of the Noun Ending
ofo o o | a/o oja ol | o n [0 |oav |o|wf|=*vt, v8, VO + 6 = voc — vo — v then v drops out and the vowel preceding it is
| | / | | | | lengthened. So also v, 1, 3, 8. Cf. twv, mowvr, Ev, XOPLT, OWT, EATLS, TEVLUOT

QN[N (MU ELMIEL] M NU/EV N [N [EL]L]OV O [0 W [0V JEV U [ W [|g 5o ¢ one of the noun endings does not drop out even when intervocalic.
ninin n n nin [0 n nv (oo As Part of the Verb Endmg

- - - - — |=#v drops out because of the ¢ & the preceding vowel is lengthened: e+o=ov; ai/o+o=w
0wl ov [ot/ov W |0LfOoL | OV | Ol [0V]| OV |0 W |=»As part of the verb endings in non-liquid verbs, 6 only drops out in the 2SM/P forms
(OR[GO} w (V) w w wv |® of s & co. .

. As Part of the Tense Formative

formed by contraction.
At times, this form does not augment.

"n the case of « and ot, they are formed when the ending has a diphthong in
its natural state. The alternate endings of a and ov are formed when the €1 is

=3The ¢ drops out in the Perfect, Active, Feminine Participle because it is intervocalic.
=?Liquid limners A p v p + €0 (liquid Futures) or + ¢ (1st Aorist) causes the ¢ to
disappear.

=3The only stop that can stand before ¢ is @ or x. Hence, B, ¢ become 7; y, ) become k.

=»With a single consonant, repeat the consonant, add epsilon: AéAvka:

=3f the consonant is ¢, ¥, 6 then you get the hardened form =, x, 1.
TEPAL... KEXCL... TEOE...

=*In Compound Verbs the reduplication takes place before the verb in the
same way augmentation does. exBEBANKQL

=»Contract Verbs lengthen their contract vowels. yeyévvnko. or AeAoAnko.

Vocalic Reduplication

=*Vowels or diphthongs, the vowel lengthens as with the Imperfect.
YOO O YOO OLTE® tO 1T

=*Verbs beginning with two consonants will usually have vocalic
reduplication. yvo becomes £yvwio.

Attic Reduplication

=»Some verbs whose themes begin with o, € or o followed by a single
consonant, reduplicate by repeating the initial vowel and the consonant and
by lengthening o and € to n, and o to o. axoVw becomes axnioo, for
aienico(v)o. oy has arynoyo for oryn(y)oxo

- Ypoup+om = Ypomow.
Personal Pronouns Ne[ll\lrear & Far Demonstratli\;zrl’ronouns Metamorphosis

Ist 2nd  |3rd 2-1-2(2b) =*A dental stop (1, 3, 0) before another dental stop becomes a 6: 13+1€ = 101e.

éyu; oV (xﬁt—og no 2': -2(2b) . - ,2'1'2(2b) =3 A dental stop (1, 3, 0) before u often becomes 6: nedpad+Hion = TEdpOLGULOL.

— 0VT-0GC OVT-N TOVLT-O [EKELV-0C M O

ELOV |60V - . . -

— Masculine and Feminine nominatives begin Indicative and Non-Indicative of S{u{

€U0l ool with the vowels and rough breathing marks. - - - —

- However, their other forms have 1. Present Imperfect Future Sub]uflctlve Imperative Inf:mltlve

EHe |0t elut! nunv £00UOL o g1vo

NUELG [Vpelg Attributive/Predicate Rules £l ne gom ne 1oOt

wav [vud A+A+N=A Adjective+Article + Noun=Attributive T > > > >

UV jvuwy ] . . . EcTL(V) nv £ oTol ne £0TM

ENE A-A+N=P Adjective-Article+ Noun=Predicate — — —

tu — 'Ll — A-N=S Adjective-Noun=Substantive eClEV Muev, nuebojecopebo| wpev

nuoG jouag A+N-As=I Adjective+Noun-Articles=Independent £01é nte £6e00¢ nte to1e

Short forms, OV, [HOL, UE . . . . eiot(v)| nooav  [Ecovtat| woi(v) Eotwoav
AU,TO,Q_A+N:P oVTo6 _4 rtl.cl.eJer,fn :Pre.d.lca te. "The root for elut is e5. Normally, the ¢ drops out before p and the
Oov10¢ does not hfwe th? e}rtlcle In its Prédlc?te posmon.. . preceding vowel is lengthened (Smyth §105). Development of the
@A When used reflexively, it is usually nominative and modifying Indicative: e6-11t — £-{it — EULL; £6-CL — £01— e £0-TU(V);
a m_)gn ‘®When used as the identical adjective it is usually retains the original T ending; (6-)evit > €io1. The Subjunctive:
attributive. k-0 — eo > . The Optative: e6-1n-v > euyv; €6-1-pev —~

ewev. The Infinitive: ec-vor —> ewvor. The Participle: ec-ov —
Consonantal Reduplication Ewv — ov (Smyth §770).

Conditional Sentences

Class |Protasis Apodosis

Ist [l + any tense Indicative; negated by oy |any mood or tense

2nd g1 + past tense Indicative; negated by un [ov + same tense Indicative as the protasis
3rd Jegv + Subjunctive negated by un any mood and tense

4th  [e1 + Optative 0LV + optative

Darris J. Brock

Greek on a Sheet

May 30, 2007 (12:15am)




This verb chart reflects the actual verb endings, not simply paradigm endings. The shaded cells are NOT actual endings but the result of morphology. The actual ending is
listed in the cell to the immediate left separated by a lightly dashed line and a footnote explains the change. The cells with bold outlines are i verb endings which will be
helpful to know but not formally covered until the end of the book. Memorizing this chart drastically reduces the amount of memorization required. My adaptation is best to
learn because it forces you to learn rules of contraction but also shows you the results of the contraction. Red letters are contract verb imperatives.

Verb Endings for the Indicative, Subjunctive, Optative, and Imperative Moods Verb Footnotes
PRIMARY SECONDARY IMPERATIVE 1Technically there is no ending. Instead there is an o connecting
Active [ Middle Active Middle Active | Middle \éZ\g;l.) Because there is no ending, the o lengthens to an o (Smyth
- — a).
g 1 7 P k
IS| — ¢ @ ut poi uoi: v unv None “The connecting vowel here is € but it has apparently lengthened
10 1 to .. Mounce and Smyth disagree on this matter. Smyth supposes
2 6 9 S V| O 00 OV IO ¢ s A De-o1, which contracts to ADet and he imagines that a ¢ has
28 c oot in/o/ot c G0 i0V/w b . / .
L * een added to give us Avelg (Smyth §463b). Mounce agrees with
|6t [G[et]ov T the development but thinks that the original sigma has switched
38| o1(v) I E ;814 Tt _ s(v)x 0 0t 60w ;f)rllaff)s with the iota, a process known as metathesis (Mounce p. 134
1Pl uev uebo uev uebo None 3The original ending was 1t but the t dropped out. The original
" can be seen in e5t1(v) (Mounce p. 133, fn 8).
2Pl e obe e obe e obe *For our purposes, the €1 ending is formed from the €
vol(v) ODO'L(V)S " twsoy” TOOUY connecting vowel and the 1 endi'ng, although in t'he Perfect there is
3P1 ' VIOt v ooV V10 " no t only a moveable v. There is no good technical explanation for
‘XCI(V)I Aor.pass. 0N | 60woaV | how et is formed since 1 to 61 would render 1 not &1 (Mounce,
. . Indicative Mood Verbs
MBG p. 80 n5; Smyth §463 c; Funk §3670.2). iense lctive /P Prie
Written as ovot, technically the ending is vou but the v drops out because of the 5. The P ; e’ :p e’ ir
connecting vowel, which would have been o before a v, has lengthened to ov to compensate resen e 1A e Trmmpe
(Mounce p. 128 fn 8). Additionally, a moveable nu may be added to the end of both ovci(v) and 1st Future Oo 0/E +Paec | O o 0/S +Pme | O6n 0/E +Pmpe
oot(v). S S
6Except for the Perfect M/P, the 1st Aorist M, and the M/P uu verbs, the sigma drops out and 2nd Future | A7/, €6 +Pac |A €6 /, +Pmpe °
th Is contract. Contracted f be 1, ¢, oL Some charts list € Iternate endi - o ° Anc '/, +Pmpe
e vowels contract. Contracted forms may be 1), ¢, ot. Some charts list e as an alternate ending. | j,uid Future |0 eo /. +Pac|O] €6 °/, +Pmpe

Smyth (§628) mentions that it is an alternate spelling of the Present and Future M/P and the Future

Perfect passive. It is an Attic spelling (EI for nor nt). In the NT, this form occurs only in Lk.
22:42 (Bovker) a deponent verb. Tt, along with otet and oyet only have this form. All other 2S
verbs in the NT ending this way are active Imperatives of contract verbs ending in €.

7Smyth explains that the o/v ending actually

is a i1 which converts to a v when preceded by a

vowel or to an o. when preceded by a consonant. The p is one of the "sonant nasals" A, y, v, p.

The 1* Aorist EAV+o+uL became élvoo and the

o grew into use in all the 1** Aorist forms except

the 3 sg. which gives us the so-called ca tense formative (Smyth §464a & 666).
8Technically, there is no ending here. Instead, the connecting vowel € stands alone or with a
moveable nu g(v). In the Secondary Active it may be that the € is held over from the Perfect tense

Participle Morphemes
Present Aorist  |Perfect
M/N| Fem. |M/N |Fem. |M/N [Fem
ctive | vt |ovoo | vt [oa | o1 |uia
M/P - |pev | pev |uev |uev [uev |uev
|Passive VT | oo
Act 3-1-3 M/P 2-1-2 Pas 3-1-3
Infinitives
\Present |I'' Aorist 2" Aorist |Perfect
Uctive | etv™ | oot e’ |kevor
/P oot [cacBar| cBar [oBot
|Passive Onvort nvot
*Technically the ending is ev which contracts
ith the connecting vowel €.

form of the verb (cf. Smyth §464c). That is not
the same as with the Imperative Active. With the
Aorist and Future Passives, no ending is used,
simply the eta from the tense formative.
9Technically, oo is the ending but the 6 drops
out when it is intervocalic and the o contracts with|
the connecting vowel, either € or o and the result
is lengthening to ov or @ respectively. In some ut
verbs ¢ remains. A ¢ between vowels is due to
phonetic change (Smyth §120).
1OTechnically, there is no ending here.
Instead, the connecting vowel € stands alone or
with a moveable nu g(v). In the Active second
singular of liquids, such as the 1st Aorist, ov is
the ending instead. The o replaces o (Smyth
§669). With Contract verbs, the contract vowel
lengthens to either o, €1, , or ov. Additionally,

Stem Things

Athematic verbs may have n.

o olw stems ususaly end in a dental, e.g. &
000w stems usually end in a velar, e.g. %, v
but 66 was added to form the present.

0K 10K are added to some roots to form the

present tense.

11Technically, oo is the ending but the ¢
drops out when it is intervocalic (Smyth §120)
and the o contracts with the connecting vowel,

(Smyth §669). However, 6o does appear as an

Athematic (1t verb) Rules

2. Normally, no connecting vowel (thematic).

5. Reduplicates with € in the Perfect.

1. Reduplicate with 1 in the Present & Imperfect.

3. The stem vowel can lengthen, shorten, or drop out.
4. Most use ko. as the Aorist & Perfect tense formative.

ending in the Athematic and some
Thematic verbs.

2This is only used in thematic
verbs as a 1st or 2nd Aorist Passive
Indicative; in athematic verbs as
Imperfect & Second Aorist Active
Indicative.

Imperfect (—:.0/E +Sae 8.0/£ +Smpe
2nd Aorist EAU/E +Sae EAO/£ +Sme cAn +Sae
Ist Aorist eOoo +Sae eOoo +Sae
— . £O0On +Sae
Liquid Aorist | €Oo +Sae eOo +Sme
Ist Perfect | REosicor +Pae RESs +Pmpe
2nd Perfect REQ o +Pae RE@ o +Pmpe
Ist Pluperfect |¢ REeoicet +Sae| € REae+Smpe
2nd Pluperfect| € "E@et +Sae | € RE@+Smpe
Subjunctive Mood Verbs
Present .w/n +Pae .m/n +Pmpe
Ist Aorist | Oc w/n +Pac | Oc w/n +Pme (@3] w/n +Pae
2nd Aorist Aw/n +Pae Aw/Tl +Pme An +Pae
Opta pod Verb
Present @01 +Sae @01 +Sm/pe
Future oot +Sae Odocot +Sme O6nocot +Sae
Ist Aorist Oocat +Sae Oocatl +Sme O0et +Sae
2nd Aorist Aol +Sae Aol +Sme Act +Sac

®Shapes represent verb stems. Present & Imperfect use the same stem.
®Contract verbs end in o, €, or o.
®Bold outlined forms take secondary endings.
@The Connecting Vowel is o before |t or v, otherwise €.

by un. The strongest form of negation is ov un.
®In questions, 0L expects a yes answer, [T NO.
@®Possible Subjunctive Clue words: Tva, €ov (€1 + av), otav (0te +

av), 0C av,
OMOV OV, £0C,
£0C OLV.

either € or o and the result is lengthening to ov  @Imperfects & Aorists augment, Perfects reduplicate. Augmentation
or o respectively. In the Middle of liquid verbs, ceases outside of the Indicative mood.
such as the 1st Aorist, the ending switches to ot @The Indicative mood is negated by ov, ovk, and ovy; everything else

Indicative Mood Verb Tense Formatives

Future

Aorist

Perfect

Pluperfect

Act Pas

Act Pas

Act Act

o, €0 |OnC, no

co, ofn, n

Ko, o

KEL, €1
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